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QUESTION: 244 
A customer has added LUNs to an attached storage group that has a Solaris host 
with PowerPath. After the host is rebooted, which command is required to see the 
disks? 

A. powercf 
B. powerdev 
C. powerlvm 
D. powermt 

Answer: A 

QUESTION: 245 
PowerPath Administrator shows a status of "Failed" for all LUNs. What does the 
"Failed" status indicate? 

A. All device paths are dead. 
B. Navisphere Agent has failed. 
C. PowerPath service has failed. 
D. Some device paths are open and some have failed. 

Answer: A 

QUESTION: 246 
Which Navisphere Event Monitor model uses a Navisphere host agent to monitor 
storage systems? 

A. Centralized 
B. Distributed 
C. Enterprise 
D. Workgroup 

Answer: A 

QUESTION: 247 
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What is the maximum collection period for the Navisphere Analyzer Continuous 
Archiving option? 

A. 7 days
B. 21 days
C. 30 days
D. 31 days

Answer: C 

QUESTION: 248 
What is the maximum collection period for the Navisphere Analyzer Periodic 
Archiving option? 

A. 7 days
B. 21 days
C. 30 days
D. 31 days

Answer: A 

QUESTION: 249 
Which Navisphere Analyzer chart shows if performance parameters have exceeded 
user- configured thresholds? 

A. Detail
B. Performance Detail
C. Summary
D. Survey

Answer: D 

QUESTION: 250 
What are the default polling intervals for Navisphere Analyzer real-time and 
archive data collections, respectively? 
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A. 1 minute and 2 minutes
B. 1 minute and 5 minutes
C. 2 minutes and 10 minutes
D. 2 minutes and 15 minutes

Answer: A 

QUESTION: 251 
Which step(s) are required to initiate Navisphere Analyzer logging from 
Navisphere Manager? 

A. Enable Statistics Logging, then use the "Analyzer start" option
B. Reset Statistics Logging, then use the "Start" option
C. Select "Start" from the Analyzer Data Logging menu
D. Use the "Analyzer start" option from the Array Properties menu

Answer: C 

QUESTION: 252 
A RAID group is configured with five LUNs. Two of the LUNs need the majority 
of the available IOPS. Which NQM policy could be implemented to manage the 
available resources? 

A. A policy that uses Fixed Queue Depth to set a queue depth goal of 40 for the
three non-critical LUNs
B. A policy that uses Fixed Queue Depth to set a queue depth goal of 40 for the
two critical LUNs
C. A policy that usesLimits to set a goal of 40 IOPS for the three non-critical
LUNs
D. A policy that usesLimits to set a goal of 40 IOPS for the two critical LUNs

Answer: C 

QUESTION: 253
 
Which utilities allow configuration of NQM objects?
 

A. Navisphere Manager, Navisphere Java CLI, and NQM I/O Class Builder
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B. Navisphere Manager, Navisphere Secure CLI, and NQM Policy Builder
C. Navisphere Off-array Manager, Navisphere Classic CLI, and NQM Policy
Builder
D. Navisphere Off-array Manager, Navisphere Secure CLI, and NQM I/O Class
Builder

Answer: B 

QUESTION: 254
 
What is true of the NQM Enabler?
 

A. Installation and removal do not require rebooting.
B. Installation and removal require SPs to be rebooted.
C. Installation requires SPs to be rebooted.
D. Removal requires SPs to be rebooted.

Answer: A 

QUESTION: 255
 
Which utilities allow NQM management?
 

A. Navisphere Classic CLI, Navisphere Secure CLI, and Navisphere Manager
B. Navisphere Java CLI, Navisphere Secure CLI, and Navisphere Manager
C. Navisphere Secure CLI, Navisphere Manager, and NQM Wizard
D. Navisphere Secure CLI, Navisphere Manager, or Off-array Manager

Answer: D 

QUESTION: 256
 
How are host I/O requests prioritized on a CLARiiON without NQM?
 

A. FIFO
B. Least Blocks
C. Least I/Os
D. Round Robin
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Answer: A 

QUESTION: 257
 
What are the three types of NQM service goals?
 

A. Bandwidth, queue depth, and IOPS
B. Response time, IOPS, and throughput
C. Throughput, bandwidth, and response time
D. Throughput, IOPS, and queue depth

Answer: C 

QUESTION: 258
 
What are three NQM Control Methods?
 

A. Cruise Limits, Fixed Limits, and Queue Depth Control
B. Fixed IOPS, Bandwidth Cruise Control, and Variable Queue Depth
C. Limits, Cruise Control, and Fixed Queue Depth
D. Queue Depth Limits, Cruise Control, and Fixed IOPS

Answer: C 

QUESTION: 259
 
Which statement applies to NQM policies?
 

A. All policies attempt to set an upper performance limit.
B. Only one control method is allowed in a policy.
C. Only one I/O class is allowed in a policy.
D. Policies may include only one disk type or speed.

Answer: B 
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